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5. The left-hand jaw of the C-Clamp can be slid along the frame to

jaw on the frame when the clamp is under load, the dimension
X must exceed a certain minimum value. Find this value
corresponding to given dimensions @ and » and a
coefficient of friction

loose-fitting jaw. (15%)
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increase the capacity of the clamp. To prevent slipping of the

f between the frame and the
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{ Estimate the normal anisotropy R of a metal sheet when it is
stretched by 23% in length, decrease in thickness by 10%.
Note that the normal anisotropy is defined as the ratio of width
strain to thickness strain. (15%)

/ In the figure are shown the elements of a rolling mill.
" Determine the maximum thickness b which the slab may have
and still enter the rolls by means of the friction between the

slab and the rolls. Assume that the coefficient of friction is f

aﬁd that b-a is small compared with d.  (20%)




